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Moﬁ’nlg” 1 M[L] C
Q.1 | a. | Find the angle between the dlreegx\h; tC 7 | L1 | CO1
b. 7 1 L2 CO1
c. 6 | L1 |CO1
V-(xyz)1 +_(3x«ay2_ (xz -y z)k atthepémﬁ{% -1, 1)
e OR + ,{k‘::}
Q.2 |a. 7 1L3]CO1
b. 7 1L3|CO1
[ 6 | L3 | CO5
Module - 2
Q3 | a. | Define asSBbspace Show thatﬂﬂm_‘ intersection of; 7 | L2 | CO2
vectorsp%ﬁsVlsaisoasubspgc of V. i
b. | Show that the set B = {Q"‘ 7 | L3 | CO2
spacs Va(R). ‘
¢ | Prove that T:R? Jml‘ifz e defined by 1;(a, b}—(a,+b a-b, b) is a linear | 6 | L3 | CO2
transform. -
<Ol
Q.4 | a. | Show that tﬁesét S={L0, 1) (,1,, 1, 0) (—1,0,—1) } is linearly dependent in | 7 | L3 | CO2
Vi(R).
b. | Let T:R* > R? deﬁned"b?ﬂ‘(x, y, Z) = (x+y, X, 2x~i-z) Find therank and | 7 | L2 | CO2
nullity of T and verify rank of T + nullity of T = dim(R>).
¢. | Using the modam;lﬁéﬁlf:mahcal tool, write the code to find the dimension | 6 | L3 | CO5
of subspace spanned by the vectors (1,2, 3) (2,3, 1)and (3, 1, 2) 1
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Module -3
Q.5 | a. | Find the Laplace transform of, 7 L1} CO3
) e (2 cos 6t — 3sin 5t)
g cos 2t —cos3t
(i) B
b. | Find the Laplace transform of a square wave,fung}tmn, 7 { L2 | CO3
g 6 | L3 | CO3
.6 | a | Find L|—= y
. e ¢'§(5+1)(s+2)(s+3)] ) et e
b. | Find L usmg con?omnon theorem. 7 | L3 | CO3
(s +a’f :
¢ |Solve by Laplace” transform method y"+4y +4y Zetwith | 6 | L3 | CO3
0= y(©=0 < A e AY
_ Module 4
Q.7 |a. | Find the realzoot of the equatiomx log,, x =1.2 by using the Regula-Falsi | 7 | L1 | CO4
mefhodtbe reen 2 and 3 (ﬂn‘ee-ﬂ: ations).
b. | Given §m45 =0.7071, si .7660, sin 55°=0.8192, sin60"=0.8660, | 7 | L3 | CO4
ﬁn&~sm 52° using Newton $ Horward mtezpolatl@n formula.
c. "--Usmg Lagrange s mta}:pglatmn formulae to find f(5) from the following | 6 | L3 | CO4
‘ 9
156 | .= ' :
A0 OR
Q.8 | a. | Find the real root of the eqlﬁiatlon, xtanx +1 0 whichisneartox=n by | 7 | L2 | CO4
using Newton-Raphson | method
b. | Using Newton’s divided difference formulae and find f{4) given the data : 7 L3 CO4
x |0 |2]3ab6”
X)[-4({2]14]15
M”fﬂ 1y 6 | L5 | CO4
c. (}h{;%y’ (w) rule by taking seven ordinates
(ol { ‘
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Module — 5
d x 3 3 P
Q.9 |a.|Solve ?d% =¢" -y, y(0) = 2 by using Taylor’s method upto 4 degree terms 7 L3 | co4
and find the value of y(1.1). - '

b. | Using the Runge-Kutta method of order 4 ﬁad at x = 0.1 given that | 7 | L3 | CO4

?—:33" +2y,y(0)=0andh=0.1
X

6 | L2 | CO4

7 L3 CO4
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